
 

                             I disegni rappresentano i manufatti – non sono in scala 

 

ANELLI Ø 125 - Ø 150 - Ø 200 CM 

   
 

<in disegno anello Ø 150 – h. 75 cm> 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

ANELLI Ø 125 CM H. 50 CM A = Ø 135 cm B = Ø 151 cm C = 50 cm D = 125 cm Peso = kg 342 

      

ANELLI Ø 150 CM H. 50 CM A = Ø 160 cm B = Ø 176 cm C = 50 cm D = 150 cm Peso = kg 342 

      

ANELLI Ø 150 CM H. 75 CM A = Ø 160 cm B = Ø 172 cm C = 75 cm D = 150 cm Peso = kg 472 

      

ANELLI Ø 200 CM H. 50 CM A = Ø 214 cm B = Ø 226 cm C = 52 cm D = 200 cm Peso = kg 642 
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